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1. Choose the correct anéwer: 1x8=8

(a) From a social point of view, the efficient
level of output is the level at which

(i) the price of the product is equal to
the marginal social cost
(i) the price of the product is equal to
, the marginal cost
(iii) the price of the product is equal to
the marginal external cost

(iv) marginal social benefit is equal to
marginal cost
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(b) In the Bertrand model i
(i) two firms choose quantity at the.‘_’,‘:,,‘,_;
same time
(ii) two firms choose price at the same
time

(iij) two firms choose price and output
at the same time

(iv) None of the above

(c) A monapolist produces its quantity of
output in | ,

|
o'W
N
1
N

(i) inelastic portion of the demand
curve

(ii) elastic portlon of the demand curve

(it7) at the pomt where elastmlty is
equal to one

(iv) at a point where prlce elast1c1ty is
- infinite
(d) Which of the following is not correct
about patents?
(i) Patents stimulate innovation

(ii) A patent is a barrier to entry

(iii) Patents enable a firm to be
permanent monopoly

‘(iv) Patents encourage invention of new"
products
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(.’ 3"’ )
(e) The firm’s degree of monopoly power
depends on " '
(i) the number of buyers |
(i) the number of sellers
(iii) the elasticity of market demand
- (tv) All of the above
(f) Find out the appropriate statement of
‘moral hazard from the following :

(z) a- moral hazard problem arises
when insurance companies cannot
monitor individual driving habits

(i) a moral hazard problem arises
when insurance caompany can
monitor individual driving habits

(iii) a moral hazard problem arises
when insurance company
authorises a third party to monitor
individual driving habits

(iv) None of the above
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(4 )

main contributors of neo-

The two :
“ Ifare economics are

classical we
(i) Arrow—Pareto
(i) Marshall—Pigou
{iii) | Kaldor—Hicks

(iv) Bergson—Samuelson

(h) A merger is termed ‘riendly’ if
(i) it is supported by the government
(i) it is supported by the management
(i-ii) it is supported by the consumers

(iv) None of the above

2. Write short notes on any jfour of the
following : 4x4=16

(a) Market signaling
(b) Peak-load pricing
(c) Equity and efficiency

P23/1192 ( Continued )




(d) Sticky price
(e) Concept of Nash equilibrium
(7 Cartels
3. (a) “The most common definition of public
goods stresses two attributes of such
goods.”
() Mention the two attributes and
describe them.
(i) Explain with example the rela-
tionship between the two attributes.
: 6+6=12
Or
(b) What do you understand by asymmetric
information? Explain the hidden action
model of asymmetric information. 4+8=12
4. (a) Define game theory. Explain its impor-
tance and application in economics.
3+4+4=11
Or
(b) Explain Prisoners’ Dilemma (normal
form) with the help of an example. 11
P23/1192
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(d)
(e

(@

(b)

(@)

(b)

Sticky price
Concept of Nash equilibrium

Cartels

“The most common definition of public
goods stresses two attributes of such
goods.”

(i) Mention the two attributes and
describe them.

(i) Explain with example the rela-
tionship between the two attributes.
’ 6+6=12

Or

What do you understand by asymmetric
information? Explain the hidden action
model of asymmetric information. 4+8=12

Define game theory. Explain its impor-
tance and application in economics.
3+4+4=11

Or

Explain Prisoners’ Dilemma (normal
form) with the help of an example. 11
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5. (a)

()

(b)

P23/1192

(6 )

State the main features of the Bergs'on_
Samuelson Social - Welfare function.

Explain the Lipsey and Lancaste;
theory of second best with the help osf+a6

diagram.

Or

Compare and contrast between equity a4
and efficiency with the help of a
diagram. : T

What do you understand by price
leadership? What are the different
types of price leadership models?
Explain with the help of a diagram the
price and output determination under
dominant price leadership. 2+2+7=11

Or

What do you understand by oligopoly?
What are the different types of

oligopoly?  Describe the  different

characteristics of oligopoly market.
2+3+6=11

What is price discrimination? Explain,
with the help of diagram, price and
output determination in a price
discrimination monopoly. 2+9=11

( Continued )



( 7 )

Or

~(b) Define excess' capacity of a firm.

Explain excess capacity of a firm with
the help of a diagram. State one
relevance of excess capacity. 247+2=11

* % %
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1. Answer the following as directed : 1x8=8

(a) Define marginal propensity to consume
(MPC).

(b) 1f consumption increases from 500 to

800 after an increase in income from
1000 to 1500, then MPS is equal to

(i) 0-60
(i) 0-40
(iii)) 075
(iv) 0-25
(Choose the correct answer)
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( 2 )

od-Domar model of cconqrnic
e ;gt\-:gta is based on the equilibrium

between .
(i) income generation and creation of

productive capacity
(ii) savings and investment
{iii) income and consumption
(iv) consumption and saving
(Choose the correct answer) g

[d) Mention one limitation of the Harrod-
Domar growth model. 4

(e} In liquidity trap
(i) the IS curve is horizontal
(ii) the IS curve is vertical
(iii) investment is perfectly interest
elastic
(iv) fiscal policy is most effective
(Choose the correct answer)

(1 When the LM curve is steeper, then
following an  expansionary  fiscal

policy
(i) output response is more than the
interest rate
(i) both output and interest rate
change proportionately
(iii) only output changes
(iv) change in interest rate 1is large
relative to the change in output
(Choose the correct answer)

23/1149 ( Continued )



(g) The Keynesian school of economic
thought is all about supply side
economics. (Write True or False)

(h) What does the Laffer curve show?

Write short notes on any four of the

following (within 150 words each) : 4%x4=16

(a) Keynesian consumption function and
its features

(b) The accelerator theory of investment

(c) Assumptions of the Harrod-Domar
growth model and their implications

(d) Lags in the effects of macroeconomic
policy

(e) Features of supply side economics

3. (a) Elucidate the consumption puzzle. How
does the permanent income hypothesis
resolve the puzzlc? Explain. 4+7

Or
(b) (1)) What is an investment function?
Distinguish between business
fixed investment and residential
investment with examples. 255
(ii) Explain the Q-theory of investment. 4

4. (a) Explain the concepts of natural growth
rate, warranted growth rate and actual
growth rate. What would happen if all
these growth rates are not equal? 6+6

@) 5
(b) Discuss the effect of population on

economic growth in the light of the
Solow model of growth. | o

P23/1149 ( Turn Over )
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S. (a)
(b)
6. (a)
(b)
7. (a)
(b)

P23—1500/1149

( 4 )

Elaborate the notions of neutral tcchr}o-
logical progress, capital augmenting
technological progress, and labour
augmenting tcchnologlcz}l progress,
What type of technological progress
would you advocate for a developing

country and why?
Or
(i) How are changes in saving ratio
related to economic growth? Does
higher saving ratio imply faster
economic growth? Explain.

(ii) How is endogenous growth model
different from the Solow model?

(i) Describe briefly the objectives and
targets of monetary policy.
(i) What is meant by budget
constraint?
Or
Discuss the factors that determine the
effectiveness of fiscal policy.

Illustrate the meaning of full
employment. What is the mechanism
that ensures full employment in the
classical school? How do the
Keynesians  criticize the  classical

4+4

3

7

4

11

thought? 3+5+3

Or

Define ‘rational expectations’. Discuss
the major policy implications of rational

expectations hypothesis. 3+8

* Kk Kk
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1. Choose the correct answer : ‘ 1x8=8

(a) The property of minimum variance of
estimator is known as
(i) consistency
(it) efficiency
(iii) unbiasedness
(iv) sufficiency

(b) Probability of Type 1 error is
(i) Degree of freedom
(ii) Level of significance
(iti) Confidence interval
(iv) Standard error

P23/1150 ( Turn Over )
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( 2 )

The coefficient of dctermination

lies between

i) =1 and +1

(c)

{ii) =1 and O
(i) 0 and +1
(iv) None of the above

(d) ANOVA model consists of
(i) quantitative explanatory variables

(ii) qualitative explanatory variables
(itt) both quaﬁtitative and qualitative
explanatory variables
(iv) None of the above
fe) The assumption of constant variance of
the residual is known as
(i) heteroscedasticity
(it) homoscedasticity . )
(iii) Both (i) and (ij) are correct
(iv) Both (i) and (ii) are wrong -
Which of the following is not a source of
multicollinearity?
(i) Method of data collection
(ii) Model and population constraints
(iii) Incorrect transformation of variables
(iv) Lagged explanatory variables

P23/1150 ( Continued )



( 3 )

(9) Durbin-Watson d-Test is used to detect
(1) multicollinearity
(i1) heteroscedasticity
(it}) autocorrelation
(tv) All of the above

() If a qualitative variable has 6
Categories, then we have to introduce

(i) 6 dummy variables

(i) 7 dummy variables

= (i) 5 dummy variables

(lv) 4 dummy variables

: 2. Write short notes
e following :

~on any four of the

; 4x4=16
;" (a) Properties of normal distribution
(b) Aims of econometrics
(c) F-distribution
(d) Dummy variable trap
(e) Errors in variables

3. (a) Define the ©principle of ordinary
least squares. For the classical two-

variable linear regression model
Y; = By +BoX; +u;, derive the estimator
of B;and B,. 2+10=12
Or
(b) State and prove Gauss-Markov
theorem. =
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( 4 )

4. (a) Explain the significance of the: error
term in a regression model. Wnte‘ the
full form of CLRM. Discuss the varioug

assumptions of two-variable CLRM. ,
| 3+1 +7a‘

Or

(b) What is coefficient of determination,
R?? How is it computed? How is
adjusted R? more desirable than R2

as a goodness of fit? 2+6+3=]11
S. (@) Explain the concept of hetero-
SCedasticity. Analyse’ the consequences s
of heteroscedasticity. S+6=11 3
Or | :

(b) Explain the concept of autocorrelation.
Discuss the various tests to detect the
problem of autocorrelation. S+6=11

6. (a) Explain the concept of multicollinearity.
Discuss the various _ sources of

. multicollinearity. S+6=11
Or
(b) Explain briefly how multicollinearity
can be detected. Discuss various

remedial measures to remove the
problem of multicollinearity. S+6=11

7. (a) Define specification error. Discuss its
various types. 2+9=11
Or

(b) Discuss various tests that are
commonly used to detect specification

error. 11

* ok A
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Paper : GE-4.1
( Indian Economy—II ')

1. MWWWW | 1x8=8

Answer the following as directed

(a) ISHR[T FREATS! HiF AEG IR0 w57
To TR fera |

Write the main purpose of the FRBM
Act.
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( 2.)

(b) SRTS PR 46T FeE NS U@ Gl Ry
@it @Bl SofaiEa StEd 391 *
Mention any one factor that influenceg
capital formation in Indian agricultyre,

(c) SIS FAqIfsq ! A3 10 ¥4 Sesfms
THifde [eld e ?

Which sector of Indian economy hgg
the largest contribution to GDP?

(d) BOT-I 79 Rl 2
What is the full form of BOT?

(e) 5555 B o wifos Ao sros
oIS 91 7 I @B STt e T
CER 4 |

Mention any one industrial policy reform
measure introduced in India under the

New Economic Policy, 1991.

() AGVBI =9 b txex |
( A 52 7T )

The full form of AGVB is
| ( Fill in the blank )

P23/1194 ( Continued )



(@) IN ISR TR R @ @B afsTwmest S
I |

Mention any one obstacle of agricul-
tural marketing system in India.

(h) wﬂamaWﬁm%mﬁswﬁﬂ?

What was the main objective of land
reform measures?

2. Wﬁmsﬁmem—wmﬁﬁnl(m
seo *FR Too59) . 4x4=16

Write short notes on any four of the following
(within 150 words each):

(@ S55> TR Toa ftafer [fes e
FHE

Fiscal reforms in the New Economic
Policy, 1991.

(b) =rmi-aRl AS
EXIM policy =

(c) T=TF FRA GRel

Concept of sustainable agriculture

(d) REe gopzer Aifs

Disinvestment policy

(e) ?ﬁﬁ?%

Agriculture price policy
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ems of parallel economy in

the pl‘C’bl
g;ﬁi;amstate the measures adopted by- the

Government to prevent this problem.

w1/ Or

awmw@%ﬁm@wﬁm@m
g s TemEe SiEn XTI OAEE? SRély
SeSifeT et (oM Ted oA¥S I *'1,_

Whether foreign trade policy is 1nstrumenta1
to strengthen the economy of a country?
Prepare your answer in the context of Indian

econoimmy.

4. IRT @hHhaesd W= F7 IS cFELe PRI
@b @Fg F=AE [T I | o 4+7=11

What is agricultural diversification? Explain
the importance of agricultural d1ver31ﬁcat10n

in the present-day context.

&</ Or

P0G SRes FRT  sHAfere  AREST  FAE
Il 91 11
Discuss the changing structure of Indian

agriculture since the Independence.

P23/1194 ( Continued )
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oo wdAifes  gers [t [f@er weree
TOE Y T gors @k [fse gm@t

FICENRR IS VS TS (A ? (S TG4
s Ife i) 6+5=11

Explian the consequences of foreign direct
investment in Indian economy. Whether all
the States are equally benefitted by this?
Show reasons in support of your answer.

41/ Or

MSME 5?7 TR GRErz ¢ 67 saeh w4qifcs
MSME-3 Sl SIF @Fg 7=0F I =G |
2+4+5=11

What 1s MSME? State the features of it.

Explain the role and importance of MSME in
Indian economy.

6. LT AR TS TS SIFed GG Z
SRSl TS THIZIPTZ. oA 41 | 11

[llustrate the dynamics of services sector
during post-reform period in India.

<1/ Or

e AR E O AIES] AIHRIAS SEeq

AmE @El-ele sifaeiiga fapiee e SiEma
41 |

Discuss the balance of payments position of
India during pre- and post-reform period.
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7. ORSY M IS AVGGAR R fpg % ;
: VTS ST AVEY SME PR Ay oy
RICHIE it e S I S 1 ‘

What are the major €Xport items of Indig
Explain the trend of transaction of
merchandise and invisjble items in‘rl’ecent ,
years.

1

9/ Or

State the Objectives of the Worlq
Organization. Explain
agriculture. Whether this

P23/ 194 ( Continued ')
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Paper : GE-4.2" |
[ Economic History of India (1817-1947) ]
1. ©o” mwmmﬁ@mﬁraﬁ@%\m
1x8=8

Answer the following questlons/ Choose the
correct answer :

a5
B 2
g
B
5]
58

(@) —m@wﬁm%mq{%ﬁ%w?

What do you mean by

colonial
exploitation of India?

(b) Rfozm =T SqiTe SiIITS 7{‘517113 o ot
w7 @I @bt @Fgef IR Sy [ |

Mention any one important cause of

frequent famines in India under British
rule.

(c) MRfesTIR Toro siged wdifos e @a &
I 9Bt wfAfSF o ford |

Write any one economic consequence of
Partition on Indian economy.

(d) WERS FEH SRR SrerT wdRifss
T T R @ OB AT g B |
Write any one benefit of foreign capital
on the economy in colonial India.

(e) Rftzz Tw e srer I Al |/ et
9Bt QFYd @Ay, Sy 91|

Mer}tion any one important feature of
India’s export during the British period.
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L el ;

ffect of land revenue .
system rs during the
British period. P

oeq @EA JEE 186768 BT CIRICh]

wﬁﬂwwwﬁmm?mo@ﬁ
we'so&‘sm‘rfwasﬁﬁzﬁ?

¢ the following in. 1867-68
national income and per
t & 340 Crores

(9)

Who
estimated the
capita income of India a

and ¥ 30 respectively?

() oS, e
W. Digby

(ii) 9F. (S GBReR
F. J. Atkinson

(iti) TSI T

Dadabhai Naoroji

(iv) P . szt

P. C. Mahalanobis
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(i 495 )

(h) SITo7 YA @3 2l qedist @ifes cagstara
TS, TS o 3 fys @wr gy e @
@R 7S SHq (@A 5o Fufibw CafeF 7

Tbe famine in Bengal was a major
disaster in Indian Economy in which
about 3 million people died. In which
year the Famine in Bengal was
occurred?

() 1943
(ii) 1930
 (ifi) 1940

(iv) 1938

2. 5 Gl B (R @i Biisel) 5x4=20

Write short notes on the following (any four) :

(@) TTARFIR =2

The laws of inheritance

(b) Tl <%
Drain theory

(c) faftza siere SRed A AARTFIR aoK

Effects of commercialization of Indian
agriculture during the British period

P23/1194 ( Turn QOver )
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(d) @fﬁwmammﬁﬁmm
Cotton Textile Industry of India durlng'.__»Ejf.li-';"“
the British period

(e) FNTT-T FLARSS Y1

Economic ideas of Ranade

3. (@) @z W T RN 8FgYd wfafes
IREPTE T | 10
Explain about the 1mportant econormc
ideas of M. K. Gandhi.

59/ Or

(b) SIIST AF-FATOITEN FLNAST 157 Wi
ST R a4t G2 STRE 9ftfes
AR SfTeT T IR SgFel e
SN 2. 7+3=10
Describe the economic structure and
policies of pre-Independence era 'in
India. Do you think that the economic

policies were conducive for economic
development?

i\:“

4. (a) WWWW\WﬁWW
[t 4 | il

Explain the demographic features of
India during the British period.

P23/1194 ( Continued. )
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=N/ Or

(b) TR T Sire WO W WF G @rE

(a)

(b)

(@)

syl S 5w dPRs seed gt w4l |

Explain. ‘ about the trend and
composition of national income and per

capi.ta income of India under the
British rule. '

e orTe SReE FRIT gy FPTERT
RISl SE  SesmEaETeR. sifeuRt AAE
Foms s .

‘Analyse the trend in performance and

productivity of major Ccrops in India

" during the British rule.

w31/ Or | .

ofis-RATOI SIS SO FIAA <AE ST
sorgs GG SeRE! | e TS SIed

11

10

AT (AR dSE sfafeste . 7+3=10

Discuss the agricultural credit and
irrigation system that prevailed in the
pre-independence India. How did the
Partition impact Indian agriculture?

S wpEe SEed SIdAifed TS
e Efl -l n M- L B SlafEt?
gofeafke o R AES SIS @
oifdgae]  AEER SHF AR ] TfEE HiE
w@naﬁﬁﬁﬁﬁa@ﬂaﬁagﬁ?ﬂﬂmi

o afeer If oft Regpi wACT? 7+4=11

( Turn Over )



( 12 )

In what way did the Railways affect Fhe
growth of the Indian economy during
the British rule? Would you agree that
the Railways were developed in Indig
primarily to serve colonial objectiveg
and failed to play a transformative role

in Indian economy?
<</ Or - |
(b) Kitza Tlers Sires Swife 1S IS gy

fr etz gt <541 | ' 11

Explain = about the  constraints of
industrial breakthrljough in India under

the British ‘rule. |

7. (@) EfteT st sRwe s T ISR FRoq
9 IO g1y o | 10

Critically analyse the fiscal policy
adopted in India during the British rule,

b)) ST Fofm qfret e qwio B RlEo

41 | St 10

Briefly explain.  jtg causes and

consequences on  Indian Economy
during the British ryle.

P
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1, ©F°

Answer the following as directed :

(@)

(b)

(c)

(d)

(e)

( 13 )

Paper : GE—4.3 .
( Public Finance )

FrPTRA Bt Sepi o i

T HAARS '&rrc:t 59

What is welfare economics?

el IFT S SYHIR 49S! @2
Who is the proponent of the benefit
theory of public expenditure?

ifgror oIRGBl TEs SEY 9 |

Mention one method of internalising
externalities.

FIT JieireA i 592

What is incidence of tax?

T4 SfoRe @ i 52
What is excess burden of tax?

GST- 7 FeleBl fordt |
Write the full form of GST.

() 8w s I 7

(h)

P23/1194

What is monetary policy?
<ot Ffege w7 = o

Write the name of a State tax.

( Turn OQver )
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2 wﬁmmmﬁmemﬁacﬁmf%wl(m:
Write short notes on any four of the‘folilowmg : h i

(within 100 words each) :
14

(@) ool T TFOl

Equity versus efficiency

. e
(b) TE SIEIAT T £
Free rider problem ‘ ' 3 9
() OIS T |F AEIRT 4
Corrective taxes and subsidies =

(d) 9 -~ Fgad  gAEIeIT I LaLQInl]
S :

Forward and backward shifting of taxes

(e) ISR Fiheq ST
Objectives of fiscal policy:

3. ©EF APTYEI T6d vl | (AUl @oo XS fSog9) :
Answer the following questions (within 500
words each):

(@) TR R R@ gye SR BFY TN

SiEsT 6 i e Roas sifs
el o ol TR S 396N =9

7+7=14

P23/1194 ( Continued )
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Discu i
Ss the importance of the various

the 7 ' '
government functions according

to the normativ
e a .
finance. pproach to public

I/ Or

(b) T MO TS A el A

T TR Lol eoE a7 RaiRs 36
SRR i 7+7=14

Discuss Pareto efficiency in the context
of welfare economics. Elaborate on the
concept of market failure.

4. (a) IS TR @FEPEZR SHIZFR I
from oiF Tom g9 7 o @{[ ovao

Explain the characteristics of public
goods with examples. What are correct
and incorrect goods? Why does the
market fail in case of public goods?

7251/ Or

(b) qreeEl T ST FERE SEr @
ﬂﬂmﬂﬁm@$‘mﬁﬂ$ﬂvﬁ%iﬁﬂ 14

Critically discuss the Lindahl’s theory
of equilibrium of public expenditure.

5. (a) '@ﬁ§@“%@ﬂizﬁ@a<ﬁﬁm=mwnaﬁn 14
Explain Coase theorem with suitable
diagrams.
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6.

( 16 )

/g /Or

) 3 sfsw awra stE Tl TS Bl

(b)

R L 1 1T B hida [ A 1 e L M E A IR L

7+7=14

Explain the incidence of factor taxes
under pef’fect competition and
monopoly with suitable diagrams.

SRS B e qEiare WIF AETHAR
7+7=14

Afsr ~iRasarR wEnAl 9
in the

Discuss the recent changes
monetary and fiscal policies of the

government of India.

1/ Or
SiHes e AED, 008 A4
aREpEE S S
f the India’s

Discuss the main features o
Central Budget, 2023-24.

* Kk K
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